H30FE SERFHEL VT NVAKRE
H30411 410 A (1) BT o ARG AR —
Va=T B 12T 12T R — 214
ELARERH E=LlE ReHR 1Evh~yF (BITR)
A= K 4 NIt BgZE T A BA FR B FZEA
K 4 T & LGN Tension T—Step Boa=7
1 Jloe KEZE LdVE ®—3 3—6 M—6(3)
2 It A Tension 3—6 0—06 1—6
3 EA HER T—Step ®—3 ©®—0 ®—0
4 Bk Flz=A BYa=7 6—7(3) ®—1 0—6
B7uvy/ K 4 HR R A 225k WH K ot #K
K 4 i) Tension FUTURE-ONE LT VNE PROGRESS
1 AR B Tension ®—0 ®—0 ®—0
2 Rl 2235 FUTURE-ONE 0—6 ®—2 ®—4
3 M K RFNE 0—6 — ®—4
4 1ot #K PROGRESS 0—6 4—6 4—6
A= K 4 KE 158 Feh B it H4 N S
K 4 R T—Step Boa=7 LGN tension
1 R 8% T—Step ®—0 ®—1 ®—0
2 fhi LS Boa=T 0—o6 4—06 1—6
3 )t FHh SSERAES 1—6 ®—4 1—6
4 /R BERE tension 0O—6 ®—1 ®—1
s — 2 K 4 1l BEXK H% 2 AR RN 3 KiE 18555 JIEAT.
K 4 i) T—Step Tension T—Step
1 K H% T—Step ®—1 1—6 HEAE
2 =R B Tension 1—6 0—o6 ERYVA
3 KRE 8% T—Step ®—1 ®—0 B

w =

JEAL

- R \]

JEAL



